CHO|OF= = M Zer2l 23 A

-Symmetric DACE-

24/07/12
0|23t

LL



(1)

(& ArZlap 20 jigh| Cio|ot=E QHof @HO| ?|=2 @A 5L L
(2)H AEaE Z0] jigO| symmetric DACS| A|EE E11 Y| 7he| LIAME =0 2% DGA|A FL|C
(3)H ARZILF £0] jigE =&

A
=
off ZLICt O] If OF2f=0f| EO|&= LiAtE2 =0



()

@8 ALEITE 20| jigl S| LIAFS Sl B3 e He ZO|L AloR AIES 20N (5)H A
210t Z0] A|E9| Yo M} CHo|Ot2E Heo| RN FHS HTeH FLCH






oroe 11§ o —
X2 W2 X0|= 4

Al
O=2 AMEE A A (10)H AR} 20| bottom part2| +HL| S4
I AEQ| HO| S22 HE mL O



11)H ARl Z0] symmetrlc DACOI top part2l bottom part& ZALStL, top partl| LIALE 3Lt &1
X2 HE2 Z0|= 422 AEE OI'OWH (12), (13)H ApZI Dt 7FO| top part2| C}O|Ot=E HE O] Z 41}

bottom part2| I_'_|-O|O|-EE MO SH= @E"OH =L,
Top part2l bottom partE 2&5t= 1’8 & F CIO[Of=E= H RO %5@' CtO|Or=E A ZO[ hK|A '—f ﬂ:t

HO| X7 2 = e L AESO| x40 E.’i'if'zﬂ of & CtO|Of= & Qo] R0 Ho|Z S5 £0[1

gfot= A0| S5 L

(13)3H A= f Mol EEH FX70 Mo 7 FEVE = A & & A= 0|F Sdi + CHO[0r2 & i

AOlel iS5 & o= USLILE (13)H AtRe| 3% Tt W7t CHo[ot= = W& =0 StLf EXfSIEZE + O
=0.52

O[Ot= Lt %% AMOIO] ZtE= & 2d=(n+1/2)A, n 5/300, ©=0.1"2 L| C}.

=1, 0
HE O] =7t 05 ECr 3 =[O =X =2 =~ Slg LT



